106 52 0% Pk 2 gkiien [ 84500 FRrdianad i e
STBEF éﬂﬁ\ﬁ51W5‘$]ﬂﬁ%W% aﬁm%ﬁ$35¢¢$m~ g 11150 -
pr/r')%‘ﬁﬁ; %&4 EH’_ ?%ﬁﬁlﬁﬂ;ﬁ’é %3%1{‘3 Fésg%/\ﬁj‘;vévé%\

£ 0w Ry

I R S

L B DU S E SR

T EPER D 3B e

WLE BT IFEE

P CHfIr T ERR RO ZRTIRP R - B FRED2r ER RS 5
3o (100 A)

—‘Liiﬁ
Oz &1 3k_(occlusa rim) H_7 FEEH? ,__qjg;};ﬁfz;b%&ﬁ%,a 2% 2P TR

ToR-v B £ B R G lxﬁﬁwé‘.i&fkT#@Lm“% g > 3553‘% :’ﬁiﬁ,{:‘.:fﬁ,&f s

T H 2B LA 7 RSO E R 2T 283

O3 09 TR T R EMWE S FLA L TH I &~ 24 R
B3 ¥ LG4 > PAE2 AXIREANFEULEL L o

G f s P TR Fed & HRR 0% 2 #2355 = 4] (festooning)

73 @i 2T Fnerdt o2 H At

= \?‘al/w\efaljg.:
() 7 2 ﬁ’ri (20 ~)
Sk rrvu 243 %:é:{ %o (204)
BEis 7 - L«vﬂ' #ew SR (204 )
(A 7§ & S S o (20/”\)

@ f A H R OEF R HHN e (204)



